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[ SlAFEONE | EmEs | S01GNO0T EhE2 | o/l P | b el
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%}% TREOBHOEILADKES TREDHBERILEIDKRES TREOBDHOEILADKRES TREDOHBERILADKRES
1 100kN/mM#%#B 25 1.00| 000 ~ 0.91 113.56 |3m%#BZ 5 -~ — — —| 100kN/mi%#8%%| 100 [11.49 ~ 1433 113.56 [3m%Z#EZ 5D -~ - - -
zhnLs 1.00| 091 ~ 8.69 100.00 [ = ist | 000 ~ 8.69 | 242 12.95 Thns 1.00] 5.00 ~ 1149 100.00 | £hist | 500 ~ 1433 | 242 12.95
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 723 9204 | Zh s | 000 ~ 7.23 | 2.70 1445 Fhst 1.00| 500 ~ 1327 9204 | Zhiist | 500 ~ 1327 | 2.70 14.45
5 100kN/M#E#B % % — -~ — —|3m%EEZD -~ — — —| 100kN/M%#B %% — -~ — —|3m%EHBZ3 -~ — — —
ZhLst 1.00 | 000 ~ 7.71 98.83 | #h st | 000 ~ 7.71 | 1.95 10.41 Fhst 1.00 | 500 ~ 12.07 98.83 | hkist | 500 ~ 12.07 | 1.95 10.41
4 100kN/mi%#8%2%| 100| 000 ~ 023 103.43 |3m%#Ai3 -~ - - —|[ 100kN/mM%#2%%| 1.00|10.86 ~ 11.55 10343 |3m%#BA 5 -~ — — -
Zh st 1.00| 023 ~ 802 100.00 | #h kst | 000 ~ 8.02 | 207 11.08 Fhst 1.00| 500 ~ 10.86 100.00 | #h L5t | 500 ~ 1155 2.07 11.08
5 100kN/mM#Z#B % % — -~ - —|3m&HEZD -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ - — —
Zh st 1.00 | 000 ~ 7.46 9530 | #h st | 000 ~ 7.46 | 2.01 10.77 Thst 1.00| 500 ~ 1038 9530 | Zh kst | 500 ~ 10.38 | 2.01 10.77
6 100kN/M#EH#BZ % — -~ - —|3m%E RS -~ — - —| 100kN/M%Z#B %% — -~ - —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 6.89 8731 | #hiis | 000 ~ 689 | 1.77 9.48 Zhst 100 | 500 ~ 849 8731 | #hist | 500 ~ 849 | 177 9.48
; 100kN/mM#E#B %% - -~ - —|3m&#EZD -~ - - —| 100kN/mMZ#B %% — -~ - —|3m%EHEBZ 3 -~ - — —
Zzh st 1.00 | 000 ~ 500 6227 | #hust | 000 ~ 500 1.73 9.24 Fhst 100 | 500 ~ 530 62.27 | #his | 500 ~ 530 | 1.73 9.24
g 100kN/M%EH#B % % — -~ — —|3m%EHEZD -~ — — —| 100kN/M%Z#B %% — -~ — —|3m%EHBZ3 -~ — — —
Zh st 1.00 | 000 ~ 476 5931 [ Z#hList | 000 ~ 476 | 1.77 9.47 Fhst 1.00| 500 ~ 500 59.31 | #hist | 500 ~ 500 | 1.77 9.47
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhs ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zhst ~ zhs ~ Ths ~ Thst ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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